Orden de Operaciones (J)

Realice las operaciones en el orden correcto.

. 87,79 — 18,05 — (17,42 +28,67) + 58,64 x (16,36 — 76,36)

[

N

(=74,77+43,52+ (—31,25)) x (—49,72+ 31,63 — (76,08 +49,95))

W

67,73 —59,43 — (—31,67—2,05) + 83,51 = (24,85=7,1)

4. (((52,46 x (45,44 — 45 44)) x 49,33) = (—77,23)) x (64,05 — 15,89)

. 43,58 4+-48,19460,48 — 64,31 4+ 13,07 — 56,94 + 2,45
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Orden de Operaciones (J) Answers

Realice las operaciones en el orden correcto.

. 87,79 — 18,05 — (17,42 +28,67) + 58,64 x (16,36 — 76,36)
— ~3.494,75

—_—

2. (—=74,77 443,52+ (—31,25)) x (—49,72+ 31,63 — (76,08 +49,95))
=9.007,5

(98]

67,73 —59,43 — (—31,67—2,05) + 83,51 = (24,85=7,1)
= 65,88

4. (((52,46 x (45,44 — 45 44)) x 49,33) = (—77,23)) x (64,05 — 15,89)
=0

9,

| 432156854548, 19+ 60,48 — 64,31 + 13,07 — 56,94 + 2,45
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